:yfgLo k"jf{wf/ ljsf; tyf s[lif ;8s ljefu -8f]ln8f/_
;fgf l;+rfO{ sfo{qmd
of]hgf dfu kmf/fd


-pko'Qm sf]7fdf 7Ls -_ lrGx nufpg'xf];\ . _		            ldlt ====================

-s_ of]hgfsf] kl/ro 

of]hgfsf] gfd M ====================================

lhNnf M	============================== uf= lj= ;= M ================================== j8f g+M M 

============ 6f]n M==============================

If]q M     s'nf] l;+rfO{ 	  kf]v/L l;+rfO{            lnˆ6 l;+rfO{
    
k|sf/ M     gof“            k'gMlgdf{0f          dd{t
		
glhssf] oftfoft k'Ug] M :yfg M===================================================== b'l/ -306f_ 

============== -! 306f ≠ # ls= dL=_

l;+rfO{ of]hgf

k|:tfljt >f]tsf] gfd M==============================================

d'xfg M vf]nf 	   vf]N;L	d'n 	        cfsfz] kfgL   

l;+rfO{ x'g] If]qkmn -x]S6/_ M================	d"n gx/sf] cg'dflgt\ nDafO{ -dL=_ M==================

-v_ ;fdflhs cfly{s ljj/0f

nfeflGjt 3/w'/L ;+Vof	

blnt M==============  hghftL M==============  cGo M================ hDdf   ============



-u_ lh=lj=;/ uf=lj=; sf] l6Kk0fL
;+:yfsf] gfd M===================================================	7]ufgf M==============================================
kbflwsf/Lsf] gfd M============================================ 	kb M==============================
x:tfIf/ M==========================================================   	ldlt ===========================

-3_ of]hgf dfu ;DalGw ;d'bfosf] lg0f{o
xfdL tkzLndf pNn]lvt  pkef]Qmf ÷ hg;d'bfox? aLr cfh ldlt ==================================df  5nkmn eP cg';f/ ========================= lhNnf ================================ uf= lj= ;= j8f g+= ================
==================================================6f]ndf  ======================================================= of]hgf lgdf{0f sfo{ k|rlnt P]g lgod cg';f/ ;DkGg ug]{ ul/ of]hgf dfu ug{ ;xdt eof}+ .

-l;+rfO{ x'g] If]qkmn l;rfO{ of]hgfsf] nfuL dfq eg'{xf];\ . _

	qm= ;+M
	gfd
	6f]n
	l;+rfO{ x'g] If]qkmn
 -/f]kgL, lj3f, x]S6/_
	x:tfIf/
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